	ABSTRACT STATEMENT OF E	ELECTION EXPENSES
	PART – I	
	Name of the Candidate	Sri Kripanath Mallah
	Number and name of Constituency	HP-1, Karimganj (SC)
	Name of State/Union Teritory	Assam
IV	Nature of Election (Please mention whether General Election to State Assembly/Lok Sabha/Bye-	Lok Sabha
	Date of declaration of result	23 <sup>rd</sup> May, 2019
V	Name and Address of the Election Agent	Sri Ratan Kumar Bidyanagar, Karimganj, Assam
VII	If candidate is set up by apolitical party, Please mention the name of the political party	Bhartiya Janata Party
VIII	Whether the party is a recognised political party	Yes

Date: 13/6/2019

Place: Bidyanagar, Karimgan

Name: Kripanath Mallah

PART-II: ABSTRACT OF STATEMENT OF ELECTION EXPENDITURE OF CANDIDATE

S. No	Particulars	CANDID Amt. Incurred / Auth. by Candidate/ Election agent(in Rs.)	Amt. Incurred/ authorized by Pol. Party (in Rs.)	Amt. Incurred / authorized by others (in Rs.)	Total Election expenditure (3)+(4)+(5)
	2	3	4	5	6
I	Expenses in public meeting, raly, procession etc.:- l. a: Expenses in public meeting, raly, procession etc. (ie: other than the ones with Star Campaigners of the Political party (Enclose as per Schedule-1)	516500.00			516500.00
	I. b: Expenditure in public meeting rally, procession elc. with the Star Campaigner(s) (ie: other than those for general party propaganda) (Enclose as per Schedule-2)	2313000.00		-	2313000.00
II	Campaign materials other tran those used in the public meeting, rally, procession etc. mentioned in S.No. I above(Enclose as per Schedule-3)	480000.00			480000.00
III	(ampaign, through print and electronic media including cable network, It ulk SMS or internet and Social media (Enclose as per Schedule-4)				
IV	<pre>xpenditure on campaign xehicle(s), used by candidate(Enclose as per chedule-5)</pre>	1068850.00			1068850.00
V	expenses of campaign workers / agents (Enclose as per Schedule –6)	808400.00			808400.00
VI	Any other campaign expenditure	93575.00			93575.00
VII	egarding criminal cases [Enclose as per Schedule-10)*	Nil			
	Grand Total	5280325.00			5280325.00

	III : ABSTRACT OF SOURCE OF FUNDS RAISE  Particulars	Amount (in Rs.)
S No	Particulars	3
1 I	Amount of own fund used for the election campaign	240000.00
II	(Enclose as per Schedule - 7) Lump sum amount received from the party (ies) in cash or cheque etc. (Enclose as per Schedule -8)	5000000.00
III	Lump sum amount received from any person/ company/ firm/ associations / body of persons etc. as loan, gift or donation etc. (Enclose as per Schedule -9)	1375000.00
	Total	6615000.00



असम ASSA M



PART-IV

FORM OF AFFIDAVIT

C 814121

Before the District Election officer Karimganj, Assam

Affidavit of SHRI KRIPANATH MALLAH, Son of LATE KRISHNA MOHAN MALLAH, Aged 46 years (D.O.B. 15-10-1973), resident of Village-Bidyanagar, Post Office - Bidyanagar, Police Station- Ratabari, District-Karimganj, Assam, India, Pin. 788734, do hereby solemnly and sincerely state and declare as under:-

- (1) That I was the contesting candidate at the general election to the House of the People of Assam from 1-Karimganj (S.C.) Parliamentary constituency, the result of which was declared on 23-05-2019.
- (2) That my election agent kept a seperate and correct account of all expenditure incurred/authorised by me /my eletion agent in connection with the above election between 26-03-2019 (the date on which I was nomnated) and the date of declaration of the result thereof, both days inclusive.
- (3) That the account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register is annexed hereto with the supporting vouchers / bills mentioned in the said account .

1310 GLIS NOTARY PUBLIC Karimganj

Contd. Page No. 2.....



- (4) That the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorised by me or by my election agent, the political party which sponsored me, other associations / body of persons and other individuals supporting me, in connection with the election, and nothing has been concealed or withheld/suppressed therefrom (other than the expense on travel of leaders' covered Explanations1 and 2 under section 77(1) of the Representation of the People Act, 1951).
- (5) That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred or authorised by me, my election agent, the political party which sponsored me, other associations / body of persons and other individuals supporting me, in connection with the election .
- (6) That the statements in the foregoing paragraphs (1) to (5) are true to the best of of my knowledge and belief, that nothing is false and nothing material has been concealed.

Deponent Mallag

Solemnly affirmed/sworn by Shri Kripanath Mallah at Karimganj this 13 day of June 2019 before me .

Reking Ad fo cate

13-6-2019

Notary Public, Karimganj

Regd. No.KM.

## ACKNOWLEDGEMENT FORM

То
THE RETURNING OFFICER,
HP-L, Karimganj
Sir,
I acknowledge receipt of your letter No KELLEEMC/ dated 15/6/2019
along with its enclosures containing, among other documents, a Register bearing serial
No. 15 for maintaining of my accounts of election expenses.
2. I have noted the requirements of law for maintenance of account of election
expenses and lodging of true copy of that account with the District Election Officer /
Returning Officer.

Yours faithfully,

Kréfanal Mallah (Signature of Candidate with date)

\* Stril e off whichever is inapplicable.

Details of Elections Funds and Expenditure of Candidate Schedules- 1 to 9: Schedule- 1 Expenses in public meeting, rally, procession etc. (ie: other than those with Star Campaigners of the Political party) Source of Expenditure

Polit	ical part			S	ource of Expen	iditure
S. No	Nature	nt Expelialture	Total Amount in Rs.	Amt. incurred / Auth. by Candidate / agent	Amt. incurred / by Pol. Party with name	Amt. incurred by others
			3	4	5	6
1	2		3			
1	Vehicl	s for transporting visitors	217000.00	217000.00		
2	Erectir	g Stage, Pandal & Furniture,	217000.00	217000.00		
	Fixture	s, Poles Etc.	20000 00	20000.00		
3	Arches	& Barricades etc	20000.00	15000.00		
4	Flower	s/ garlands	15000.00	43000.00		
5	Hiring	Loud Speakers, Microphone, iers, etc	43000.00	43000.00		
6	Poster	s, Handbills, Pamphlets, rs, Cut-outs, Hoardings				
7	Bever	iges like tea, Water, cold drink,	207500.00	207500.00		
0	juice 6	TV-Boards display, Projector				
8	displa	tickers boards, 3D display				
9	Exper music etc	ses on celebrities, payment to ians, other artists remuneration				
10	Illum	nation items like serial lights,				
11	Experimental Experimental Helic Charge camp	pter/aircraft/vehicles/boats etc. es(for self, celebrity or any other igner other than star aigner)		14000.00		
12	Powe	r consumption/ generator	14000.00	14000.00		
13	Rent	for venue				
14	Guar	ls & security charges				
15	celel	ding & lodging expenses of self, rity, party functionary or any campaigner including Star paigner				
16		rs expenses		5-1-1-00-00		
10	Tota		516500.00	516500.00		

Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) as apportioned to candidate (ie: other than those for general party propaganda)

No	Date a Venue	nd	Name of the Star Campaigner(s) & Name of Party	Amount of Experiments	with the Star he candidate (As	other than for	Remarks, if any
		_	3		4		5
1		2	3	So	ource of Expendit	ure	
				Amount by Candidate/Age nt	Amount by Political Party	Amount by Others	
	9/4/19 Karin		Sri Ranjit Das, BJP	35000.00			
	9/4/19 Karin South		Sri Ranjit Das, BJP	40000.00			
3	10/4/ Haila		Sri Ranjit Das, BJP	40000.00			
1	10/4/ Katli		Sri Ranjit Das, BJP	37000.00			
	10/4/ Alga		Sri Ranjit Das, BJP	35000.00			
5	11/4 Ram Pass	19 1agar By	Prime Minister, Narendra Modi, BJP	656000.00			
7	12/4 Med Path		Himanta Bishwa Sharma, Bhartiya Janata Party	60000.00			
8	Ran Nag	krishna r	Himanta Bishwa Sharma, Bhartiya Janata Party	60000.00			
9	Sup	akandi	Himanta Bishwa Sharma, Bhartiya Janata Party Himanta Bishwa Sharma,	65000.00			
10	Hai	akandi	Bhartiya Janata Party Himanta Bishwa Sharma,	85000.00			
11	_	By-pass akndi	Bhartiya Janata Party Himanta Bishwa Sharma,	80000.00			
12	13/4	d Show /19	Bhartiya Janata Party Rupa Ganguly, Bhartiya Jan	60000.00 lata 50000.00			
13		arkandi ikrishna	Party Rupa Ganguly, Bhartiya Jar Party				

15	13/4/19, Station Road Karimganj	Rupa Ganguly, Bhartiya Janata Party	50000.00		
16	Badarpur	Rupa Ganguly, Bhartiya Janata Party	100000.00		
17	14/4/19 Nivia, Ratabari	Himanta Bishwa Sharma, Bhartiya Janata Party	60000.00		
18	14/4/19. Karimganj	Himanta Bishwa Sharma, Bhartiya Janata Party	85000.00		
19	14/4/19, Badarpur	Himanta Bishwa Sharma, Bhartiya Janata Party	65000.00		
20	15/4/19, Solgoi, Patharl andi	Chief Minister, Sarbanand Sonowal, BJP	120000.00		
21	15/4/19, Fakira Bazar, Katlichera	Chief Minister, Sarbanand Sonowal, BJP	140000.00		
22	15/4/19, Badarpur	Chief Minister, Sarbanand Sonowal, BJP	110000.00		
23	15/4/10, Kalinagar	Chief Minister, Sarbanand Sonowal, BJP	110000.00		
24	16/4/19 Dullavchera	Chief Minister, Sarbanand Sonowal, BJP	120000.00		
То	tal		2313000.00		

## Schedule-3

Details of experiditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audicusted and cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display, 3 D display etc. for candidate's election campaign (ie: other than those covered in Schedule- 1 & 2)

S. No.	Nature	of Expenses	Total Amount in Rs.	Sources of Ex	penditure		Remarks, if any
				Amt. By candidate / agent	Amt. By Pol. Party	Amt. By others	
1	2		3	4	5	6	7
1	Printii	g of Banner (flex)	480000.00	480000.00			
Total			480000.00	480000.00			

### Schedule- 4

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in privately owned newspapers/TV/radio channels etc.

S.	Nature of	Name and address of	Name and address of agency,	Total Amount	Sources of Ex	xpenditure	
No	mediun (electronic / print) and duratio	media provider (print /electronic /SMS / voice/ cable TV, social media etc.)	reporter, stringer, company or any person to whom charges / commission etc. paid/ payable, if any	in Rs. Col. (3) +(4)	Amt. By candidate/agent	Amt. By Pol. Party	Amt. By others
1	2	3	4	5	6	7	8
1			NIC				
Tota	1						

## Schedule-4A

Details of extenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news i ems/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate or by the political party sponsoring the candidate.

S. No	Nature of medium	Name and address of media provider (print	Name and address of agency, reporter, stringer,	Total Amount in Rs.	Sources of Expenditure			
	(electronic / print) and duration	/electronic /SMS / voice/ cable TV, social media etc.)	1000	Col. (3) +(4)	Amt. By candidate/agent	Amt. By Pol. Party	Amt. By others	
1	2	3	4	5	6	7	8	
1			NIV					
Total		1						

	Schedule	-5							
	Details of	expenditure on camp	aign vehicle (	(s) and poll expenditure on vehicle(s) for candidate's election		ampaig	gn		
SI. N	Regd No.				No of Days for which	Total amt. Incurred/aut h. In Rs	Source of Expenditure		
		Rate for Hiring of vehicle/mainte nance	Fuel Charges (if not covered under hiring)	Driver's Charge s (if not coverd under Hiring)	Used		Amt. By Candidate/a gent	A mt. By Pol Par ty	Amt by Other s
1	2	3a	3b	3c	4	5	6	7	8
1	AS02F 0003 Innova	2800/-			22	61600	61600		
2	AS01A H 1233 Scorpio	2800/-			22	61600	61600	•	
3	AS11J 1976 Innova	2800/-			22	61600	61600		
4	AS11R 0161 Scorpio	2800/-			22	61600	61600		
5	AS10D 4667 Wagon R	1500/-			16	24000	24000		
6	MZ01D 3079 Sumo	2000/-			14	28000	28000		
7	AS11E 4744 Bolero	2000/-			20	40000	40000		
8	AS11E 8709 Bolero	2000/-			20	40000	40000		
9	AS24C 1744 Bolero	2000/-			18	36000	36000		

0	MZ01L 9026 Innova	2800/-	14	39200	39200	
1	AS24A 8138 Alto	1500/-	17	25500	25500	
12	AS11E 9903 Alto	1500/-	17	25500	25500	
13	AS01A L 5312 Scorpic	2800/-	14	39200	39200	
14	AS11Q 3569 Bolero	2000/-	18	36000	36000	
15	AS11C 0129 Bolero	2000/-	18	36000	36000	
16	AS24F 1309 Car	1500/-	17	25500	25500	
17	AS24 2937 Car	1500/-	17	25500	25500	
18	AS24 4440 Car	1500/-	17	7 25500	25500	
19	AS24 7171 M. Va	1500/-	1	7 25500	25500	
20	AS24 1382 M. Va	1500/-	1	7 25500	25500	
21	AS011 J 0901 M. Va	1500/-	1	4 21000	21000	
22	AS110 4466 Bolero	2000/-	1	8 36000	36000	
23	AS1 7251 Alto	F 1500/-	]	8 27000	27000	
24	AS0 A 01 Centr	1 1500/-		27000	27000	

25	AS24 7615 Wagon R	1500/-	14	21000	21000
26	AS11L 9625 Ecospo	2350/-	17	39950	39950
27	AS01D P 0882 Scorpio	2800/-	16	37600	37600
28	ML05F 0056 Bolero	2000/-	18	36000	36000
29	AS24C 6332 Magic	1500/-	16	24000	24000
30	AS24C 1883 Sumo	2000/-	16	32000	24000
31	AS24C 4663 Maxim	1500/-	16	24000	24000
То	tal			1068850.00	1068850.00

# , Schedule- 6

Details of expenditure on Campaign workers / agents and on candidates' booths (kiosks) outside polling stations for d stribution of voter's slips

	Date and	Expenses on Campaign		Total amt.	Sources of Expenditure			
S. No	Venue	Nature of Expenses	Rate	No. of workers / agents No. of kiosks	incurred/ auth. In Rs.	Amt. By candidate/agent	Amt. By Pol. Party	Amt. By others
1	2	3a	3b	3с	4	5	6	7
1	18/04/19 All Booths	Candidates' booths (kiosks) set up for distribution of voter's Slips (Poling Agents)	400.00	1721	688400.00	688400.00		
2		Campaign workers honorarium/ salary etc.						
3	23/05/19, Kmj & HKD	Boarding (Counting Agents)	600.00	100	60000.00	60000.00		
4	23/05/19, Kmj & HKD	Lodging (Counting Agents)	600.00	100	60000.00	60000.00		
5		Others			-			
Tot	21	1			808400.00	808400.00		

sched	dule- 7		*									
Detai	ls of Amo nt of ov	vn fund u	ised for the e	lection	campaign	1						
s. No	. Date	Date Cash		1	DD/ Cheque no. etc. with details of drawee bank			Total An	Total Amount in Rs.		Remarks	
	2	3		4	1			5			6	
	26/(4/2019		24000	0.00	-			240000.	00			
otal								240000.	.00	111		
che	dule- 8											
9.	Name of the Pol		Date		Cash	Т		ue no. etc. wit	Т		t in	Remarks, if
No.	Party		Date		Casii	details of drawee			e bank Rs.		any	
	2		3		4		5		6			7
		BJP 3/4/19 RTGS, 31998600		044304	5000000.00							
	Total								500	00.0000		
	edule- 9	nount re	ceived from a	any pers	son/comp	any/firm/	associatio	ns/body of pe	rsons	etc. as loai	n, gift o	r donation et
	ills of Luit / suiti a	Б	te	Cash			n details	Mention whet loan, gift or donation etc.	ther	Total Amo Rs.	ount in	Remarks
Deta S.	Name and address	ss Da					ee bank	dollation etc.	1			
Deta S. No.		a Da		4		of draw	ee bank	6	1	7		8
Deta S. No.	Name and address	3	-/19	4		of draw				7	0	8
Deta S. No.	Name and address	3 2/4		4		of draw 5 NEFT,	01063			100000.0	0	8
	Name and address	3 2/4 2/4	/19	4		of draw 5 NEFT, 909280 NEFT, 909205	01063	6		100000.0	0	8

5	3/4/19	231883, Chq Tr	100000.00
6	3/4/19	NEFT, 9093801842	100000.00
7	3/4/19	NEFT, 9093801844	100000.00
8	3/4/19	NEFT. 9093801846	100000.00
9	3/4/19	014577, ChqTr	75000.00
10	3/4/19	NEFT, 9093801883	100000.00
11	3/4/19	NEFT, 9093801886	100000.00
12	5/4/19	231885, ChqTr	300000.00
Total			1375000.00

SI. No.	Newspaper			Television		Mode of payment (electronic/cheque/DE Cash) (Pl. specify)	
-	Name o Newspaper	Date of publishing	Expenses that may have been incurred (in Rs.)	Name of channel	Date & Time of insertion/telecast	Expenses that may have been incurred (in Rs.)	
1	-1	3	4	_5	6	7	8

#### Note:

1. In Schedule 5:-

(a) copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed (b) If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers so lary for such vehicle, shall be included in total amount of expenditure in the above table.

2. In all schedules if any expenditure on goods and services, provided by the Political Party; or provided by any person/ company/ firm /associations/ body of persons etc. on behalf of the candidate, then the notional market value of such goods or services are to be indicated, in respective columns.

3. In Part -III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.

4. Each page of the Abstract Statement should be signed by the candidate

\* In pursuance of Hon'ble Supreme Court Judgment dated 25.09.2018 in WP(C) No. 536 of 2011.